
VS=1V

R=70

(a)

VS=1V

R=70

I=14.286mA

VS=-8V

R=340

(b)

VS=-8V

R=340

I=-23.529mA

VS=-7V

R=240

(c)

VS=-7V

R=240

I=-29.167mA

VS=-1V

R=100

(d)

VS=-1V

R=100

I=-10.0mA

VS=-8V

R=350

(e)

VS=-8V

R=350

I=-22.857mA

VS=-7V

R=320

(f)

VS=-7V

R=320

I=-21.875mA

VS=3V

R=200

(g)

VS=3V

R=200

I=15.0mA

VS=1V

R=30

(h)

VS=1V

R=30

I=33.333mA

VS=-3V

R=90

(i)

VS=-3V

R=90

I=-33.333mA

VS=8V

R=100

(j)

VS=8V

R=100

I=80.0mA

VS=2V

R=340

(k)

VS=2V

R=340

I=5.882mA

VS=5V

R=380

(l)

VS=5V

R=380

I=13.158mA

VS=-10V

R=480

(m)

VS=-10V

R=480

I=-20.833mA

VS=4V

R=240

(n)

VS=4V

R=240

I=16.667mA

VS=1V

R=490

(o)

VS=1V

R=490

I=2.041mA

VS=-10V

R=260

(p)

VS=-10V

R=260

I=-38.462mA
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